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which of the following is most likely to be among the “issues”

mentioned in line 38？ （A） Why has the work of Griffith， a

woman writer who was popular in her own century， been excluded

from the canon？ （B） In what ways did Griffiths work reflect the

polit- ical climate of the eighteenth century？ （C） How was

Griffiths work received by literary critics during the eighteenth

century？ （D） How did the error in the title of Griffiths play

come to be made？ （E） How did critical reception of Griffiths

work affect the quantity and quality of that work？ 23. It can be

inferred that the author of the passage con- siders traditional

scholarly methods courses to be （A） irrelevant to the work of

most students （B） inconsequential because of their narrow focus 

（C） unconcerned about the accuracy of reference sources （D）

too superficial to establish important facts about authors （E） too

wide-ranging to approximate genuine scholarly 100Test 下载频道

开通，各类考试题目直接下载。详细请访问 www.100test.com 


